# ADELAIDE CRICKET CLUB



ANNUAL REPORT 1990/91



#### ADELAIDE CRICKET CLUB

Officers for Season 1990/91

PATRON:

The Right Honourable the Lord Mayor

Mr. Steve Condous.

PRESIDENT:

R.J.Harris.

CHAIRAN:

R.Cairney.

EXEC. VICE PRESIDENT: R.Hook.

VICE PRESIDENTS:

B.Sheldon, C.Starr, C.Pinch.

SECRETARY:

R.J.Farrell.

TREASURER:

P.Maraun.

JUNIOR COORDINATOR:

A.Mitchell.

MINUTE SECRETARY:

D.Schmitt.

CHAIRMAN OF SELECTORS: R. Hook.

MANAGEMENT COMMITTEE: J.Ramage, R.Piovesan, T.Leake, B.Ifould.

(M.Griffin -SACA Players Rep.) (J. Hardman - SAWCA Players Rep.)

SACA DELEGATES:

R.J.Harris, R.J.Farrell.

BAR MANAGER:

J.Wilson.

CLUB COACH:

Mens: C.Price.

Womens: J.Hinkly

ASS. COACH:

S.Bernhardt.

CAPTAINS: Mens

A Grade D.O'Connor B Grade T.Neate. C Grade D.Rowe/.

U16 RED J.Schmitt. U16 GOLD S.McGuire/

S.Bernhardt

N.Falconer

D Grade P.Williams.

U14 RED S.Masters

J.Leake.

E Grade D.Delaporte

U14 WHITE J.Groves

Womens

A Grade L.White B Gold J.Hinkly B Red R.Higgins

LIFE MEMBERS:

A.A.Bedford.

C.J.Pinch.

U17

R.C.Bernhardt.

H.R.Sage.

K.G.Cunningham. C.R.Deere.

C.B.L.Starr. B.S.C.Smith.

W.B.Dicken.(deceased)

S.Leske.

R.A.D.Garwood(deceased)J.Morrison.(deceased)

B.R.Hall.(deceased)

B.Sheldon.

K.P.Harris.

D.R.Walsh. J.Winter.

M.Hendricks. W.Isaac.(deceased)

G.G. Young. S.Gentle.

R.W.Lee. C.Price.

TRI COLOURS REP:

J.Ramage

AUDITOR:

P.McCullough.

ACCOF.

### ADELAIDE CRICKET CLUB 1990/91 SEASON SPONSORS

#### MAJOR SPONSORS

BONE Timber Industries (Howard Bone) Ph.297 8277 PENFOLDS WINES PTY. LTD.

STILLWELL FORD (Lyn White) Ph.269 9999 KIRRA TOURS Internat. (Richard Hubber) 212 7833 JK&KM RAMAGE Building Contractors Ph.276 6627 CHARCOAL CHICKEN (Peter Raven) Ph.293 5520 PIZZA HAVEN CLG Con Hadjiconstantis Ph2770124 THE SOUTH AUSTRALIAN BREWING CO.

INDIVIDUAL SENIOR PLAYER SPONSORSHIPS

Avoca Hotel (Bruce Hart) sponsoring Andy McIntyre Akai Pty.Ltd. (Paul Scarce) sponsoring Tim Pillion Fred Vella Tyres & Crash Rep. sponsoring Stuart Wells Robert Grey Textiles sponsoring Paul Pasculli St. Marys Auto Repairs sponsoring Andrew Ramage Vintage Cellars Marion Rd. sponsoring Warren Smith James Gray Real Estate sponsoring Darren Chyer Ian Harry & Assoc. Insurance sponsoring Phil Jeffery Barry Sheldon sponsoring Ben Hook

INDIVIDUAL JUNIOR PLAYER SPONSORSHIPS
Collotype Labels (Terry Leake) sponsoring John Leake
Crawford Landscape&Irrig.sponsorin Warren Mitchell
N.S.K.Bearings Aust.P/L sponsoring Adam Maddison
Kerden Cleaning Service sponsoring Mark Piovesan
Rowe & Co. (Dave Murdock) sponsoring Michael Avon
James Gray Real Estate sponsoring Trent Gray
Keibeth Enterprises sponsoring Craig Lovering
Hamish A.Claxton CPA sponsoring Martin Sheehy
Paul Holloway MHA Mitchell sponsoring Shane O'Leary

#### ADELAIDE CRICKET CLUB

#### TROPHIES

TROPHIES	
EDDIE McCARRON MEMORIAL TROPHY SIR JAMES IRWIN TROPHY (INAUGURAL YEAR) CEC. STARR AWARD ROSS WARLAND MEMORIAL AWARD -BATTING. ROSS WARLAND MEMORIAL AWARD -BOWLING.	P.Jeffery. S.Bernhardt. J.Richards. A.Ramage. D.McGlashan.
A GRADE Roly Vaughton Memorial Batting Award Clarrie Grimmett Memorial Bowling Award Ron Sharpe Memorial Fielding Award B GRADE	A.Ramage T.Pillion. D.O'Connor.
B GRADE Batting Bowling Fielding C GRADE	M.Richards. D.McGlashan. J.Leake.
Batting Bowling Fielding D GRADE	S.Bernhardt. E.Bernhardt. J.Ifould.
Batting Bowling Fielding E GRADE	P.Williams. P.Williams. C.Jeffery.
Batting Bowling Fielding U 16 RED	C.Cooper. J.Curry. A.Armour.
Batting Bowling Fielding U 16 GOLD	J.Schmitt. J.Gillespie. D.Forster.
Batting Bowling Fielding U 14 RED	D.Worthley. S.McGuire. S.Krawczyk.
Batting Bowling Fielding U 14 WHITE	M.Piovesan. B.Nicholas. B.Westley.
Batting Bowling Fielding	L.Williams. M.Raponi. B.Newbold.
BOB BERNHARDT MOST CONSISTENT JUNIOR TROPHY	B.Nicholas.
ADELAIDE CRICKET CLUB:MERCURY-OLYMPIC BEST WOMEN CRICKETER A GRADE	L.Hunter.
Pam Donaldson Batting Award Chris. Garwood Bowling Award	L.Hunter. L.Hunter.

C.Watt. J.Hinkly.

C.Stacey.

J.Linke.

accaq

B GRADE GOLD

Batting

Bowling B GRADE RED

Batting

Bowling

### ADELAIDE CRICKET CLUB

#### PREMIERSHIPS

A Grade	1905/06 1914/15 1937/38 1958/59 1974/75
B Grade	1906/07 1956/57 1958/59 1959/60 1973/74 1986/87 1989/90
C Grade	1958/59 1959/60 1960/61 1982/83
D Grade	1989/90
Under 17	1951/52 1965/66 1977/78 1978/79 1983/84 1986/87
Juniors	1975/76 1976/77 1979/80 1980/81 1984/85 1986/87 1989/90
Club Champions	1955/56 1957/58 1973/74 1987/88 1988/89

#### PRESIDENTS REPORT

It is now recorded in history that our 86th. season saw us break with tradition and include women's cricket in a club which has been male dominated all its life. The decision to do this wasn't taken lightly and in fact culminated some four years of discussions and in-depth debate. The invitation initially was to Mercury Womens Cricket Club to join Adelaide. The idea was put at a special general meeting of Mercury and was met with mixed opinions, but there was enough support to dissolve Mercury and join Adelaide with two teams. The plan was to enter an A and B team in the SAWCA competition, however in the ensuing few weeks and for reasons better known to the individuals concerned some of the girls decided to seek clearances and go elsewhere, this meant a depletion of our teams to a point where we had enough players for one team but the problem being the mix of talent would have given us a strong team in B grade but an ordinary team in A grade. Without going into the fine details we consider ourselves to be an A grade club and wanted not only to compete in A grade but to be competitive as well.

At this time (not long before the start of the season) the Olympic Womens Cricket Club approached us with the thought that maybe they could do the same thing as Mercury either with some other club or Adelaide. We hurriedly looked at the proposal and even though we had originally planned only one womens team we couldn't see any reason why we should not expand this thought and agreed to combine Olympic as well which resulted in us having three women's teams, one A grade and two B grade. It was also agreed that the women would come into the club as full members with the same rights, privileges and responsibilities as any other member. This has caused a few administrative problems such as constitutional and committee format but these are only formalities and will be sorted out in due course.

Congratulations to the Womens A grade and the Shell Shield teams for being our only successful teams this season. Also to all the trophy winners both for our club and at association level.

I must make mention that this meeting (AGM) marks the end of an administration era. The retirement of Bob Farrell as secretary sees a nine year term of office come to a close. I have had the privilege of working closely with Bob over this period and have observed the energy and commitment he has put into our club. I cannot remember a cross word or heated argument in this time and that must be unique for a person holding such a responsible and busy position in what would have to be termed a large club. Bob's commitments outside the cricket club are enormous and while we will miss him greatly I can understand his decision and wish well with his ventures in the future. I am sure Bob will have fond memories of his time at Adelaide and on behalf of the club I thank Bob for his involvement.

Our Junior involvement is growing with the likely further commitment in our Primary School Association and a pledge to promote cricket for for girls. Our junior co-ordinator will have much more work to do. Our very survival is dependent on the way we promote the game to the schools in our area and the development of the players so gleaned.

Financially we must make some alteration to our policies as you will observe from the financial report our income is considerably up on last year but our expenses are up even higher and we must now look at areas to cut expenses. We will need a much higher level of energy input to the club scene by mostly the senior players to support and make us viable. I believe that players enjoying club gained sponsorships should be obliged to do several hours work for the club in return, eg. in the form of coaching at our many and varied venues of coaching clinics or appearances at schools (this not only helps promote the game and our club. but also helps identify our senior players so they will be known to the district) ★Senior players have an obligation to the club to attend all social functions and certainly appear at the club after every day of every game, if only for a short time on the odd occasion that other appointments have been made, this is WIN, DRAW OR LOSE, as well as participating in such things as telephone book deliveries, chocolate drives etc.

The amount of money we have to raise and spend is now reaching the extent of running a business and business procedures will have to be adopted in the future to collect monies due and penalties adhered to for those delinquent.

The culmination of the season saw mixed results. The women's teams dominated the competition as one would expect from the combination of two strong clubs. The men's teams didn't come up to expectations and a different attitude will be needed next season if we are to do better, as I believe we have the talent here at Adelaide to be a force in district cricket.

The thankyou department gets even larger and while individual thanks is called for, room does not permit, so thanks to all the people who helped run the club both on and off the field.

Good luck for season 91/92

Bob Harris.

\* Banga took offense on behalf semans - need a support base of people - can't blame semons

#### COACHES REPORT

In writing this report I will split it into two areas namely the A grade and then the other senior men's grades B, C, D and E grade, which I call our developmental grades.

#### A Grade

The A grade had a terribly disappointing first half of the season with five first innings losses and two draws before Christmas but finished the second half of the season well with two first innings wins, one outright win one draw and two first inning losses. We can make some excuses for our first half efforts, the loss of three very good players pre-season due to transfer or retirement, the very poor weather conditions which affected at least three of the early games and the initial learning curve of players and vice versa to a new captain from outside the club. BUT the bottom line is that we played some very poor inconsistent cricket up until Christmas. After Christmas we played good competitive cricket, culminating in a superb outright win against University. Our batting found some consistency and we became more desperate as a team.

If we are to compete in the finals and be successful in A grade next season then some things have to happen. Firstly all played must set themselves goals and strive for improvement and consistency. Players must be totally committed to the cause and not treat cricket as a break between football or as something to do during the summer. Unfortunately I believe this was the attitude of a minor few and it had a detrimental effect on the team. If ANY player had this attitude at the start of next season, do not bother fronting because you will not be required. I also feel we need to recruit one or two experienced players to help the side in the crunch situations. East Torrens, this seasons premiers, are a classic example of what two very good experienced recruits can do for a team. Finally and most importantly, the club as a whole must focus on striving for A grade success because surely any club's performance is judged on the success of it's A grade team.

#### **B-C-D-E** Grades

Again our B, C and D grade teams competed in the finals albeit without any success. While winning premiership in the lower grades is an achievement it is not the ultimate aim. We are a very young and inexperienced club in the developmental grades and to compete in the finals and hopefully gain and learn from the experience must benefit the players in the future. Adelaide has a terrific crop of talented youngsters with the potential to make this club very strong for years to come. My main aim has been to set an attitude and discipline that will help these young players when and if they make it to the A grade level and hopefully higher honours. I am a firm believer in playing our youngsters in as high a grade as possible as they may develop and learn quickly. To this end it was most pleasing to see our highly successful Under 17 team ALL playing in our senior ranks. It was also very pleasing to see this philosophy being supported by Alan Mitchell, the junior coordinator, and the junior coaching staff. My thanks to these people for not hesitating when we looked at or promoted juniors into the senior ranks. There is still an enormous amount of work to be done in our developmental grades especially in getting consistent batsmen but I believe we are heading in the right direction.

As with any season there are many people to thank and this season is not different. Firstly to my assistant coach Shane Bernhardt and our two skills coaches, Bob Gilborne and Eric Freeman, without you guys the task would be almost impossible. To Don O'Connor, Trevor Neate, Shane Bernhardt, Peter Williams and David Delaporte our Captains who have done a first class job in leading our teams, helping at training, coaching and being part of the selection system, which at times is very difficult, many thanks for your efforts. Our chairman of selectors, Rod Hook, whose common sense, no nonsense approach to the job certainly makes the selection process run as smoothly as possible. Congratulations to John Richards, our practice captain, who goes about his job with a maximum of efficiency and a minimum of fuss. I cannot put into words how much help this man is to myself at training and it was very pleasing to see the club and the players recognise his efforts throughout the season, at trophy presentation night.

Perhaps some members, supporters and players could take a leaf out of John's book with his attitude of seeing what he can do for the club and not what the club can do for him. I am sure if we all have this attitude, the Adelaide Cricket Club will prosper and be stronger in all aspects.

Chris Price

#### ADELAIDE CRICKET CLUB

#### A GRADE

It was a disappointing summer for the A grade as we all would have liked to make the finals.

We fell well short of our goals due mainly to our inability to score large enough totals consistently.

The bowlers stuck to their task admirably having very few runs to play with.

The players have high hopes for the future and in my opinion will be a force to be reckoned with if we continue on with the form we showed in the last half of the season. This was most encouraging.

Reflecting back on the season from an individual point of view, the quality of the players the club has coming through is excellent.

In particular, Andrew Ramage's magnificent season with the bat was a highlight and I'm sure he has a big future, let's hope he has the chance to bat on more first class wickets.

Tim Pillion again showed a fine display of swing bowling. He troubled all batsmen and was always consistent with both ball and bat.

Phil Jeffrey - a brilliant batsman in full flight. He made his presence felt and was a very hard worker at practice.

Darren Chyer consistently bowled quickly and should be looking to make a huge impact next season.

Warren Smith did a superb job behind the stumps and his keenness and dedication was a great example to all.

I would also like to mention Peter McIntyre, Darren Marsh, Paul Pasculli and Mark Griffin who were good competitors and we also had the younger players who graduated from B to A - Damian Kitto, Ben Hook, Michael Wood, Martin Clifton, Darren McGlashan, Martin Richards. Competition for a spot in the A grade side will be fierce next season but it should give everyone something to aim for and work hard towards. We need to start the season better next year as our slow start was our downfall in 1990/91.

Thanks to Chris Price for his help during the season, the ladies for the afternoon teas and the Managers Bob Harris and Bob Farrell. Thanks also to all the players in the A grade for their comradeship and for making me feel welcome in my first year at Adelaide Cricket Club.

DON O'CONNOR

	Player	Inns	NO	H/S	Out	Total	Average	C	St
F	JEFFERY	4	1	66		167	55.67	2	0
Α	RAMAGE	5	O	39		135	27.00	1	0
$\mathbf{p}$	O'CONNOR	5	0	43		98	19.60	2	0
M	GRIFFIN	3	0	64		84	28.00	1	0
W	SMITH	5	1	45		82	20.50	3	0
D	KITTO	4	1	24		45	15.00	0	0
D	MARSH	2	O	43		43	21.50	0	0
T	PILLION	4	2	19		39	19,50	0	0
В	HOOK	3	0	20		29	9.67	1	0
С	SCOTT	2	0	14		25	12.50	0	Q
Α	MC INTYRE	3	0	14		21	7.00	2	0
D	CHYER	1	1	21	*	21	0.00	1	0
D	MC GLASHAN	3	2	15	*	16	16.00	0	0
Α	ROSSI	1	0	4		4	4.00	0	0
М	CLIFTON	1	0	3		3	3.00	0	0
s	WELLS	1	0	1		1	1.00	1	0
D	CONROY	1	0	1		1	1.00	0	0
P	PASCULLI	1	0	0		0	0.00	1	0

	Player	Overs	Mdns	Runs	Wkts	Average
D	CHYER	16.0	1	40	5	8.0
P	PASCULLI	29.0	1	110	5	22.0
Α	ROSSI	8.0	2	19	4	4.8
Ð	MC GLASHAN	19.0	3	61	3	20.3
Т	PILLION	28.5	6	91	3	30.3
D	O'CONNOR	21.0	0	103	3	34.3
P	JEFFERY	17.0	2	84	2	42.0
D	CONROY	3.0	0	24	1	24.0
S	WELLS	16.0	2	51	1	51.0
В	HOOK	19.0	3	60	1	60.0
D	KITTO	3.0	1	20	0	0.0
С	SCOTT	10.0	0	43	0	0.0

	Player	Inns	NO	H/S	Out	Total	Average	С	St
Α	RAMAGE	17	0	119		664	39.06	6	0
P	JEFFERY	16	3	86	*	512	39.38	2	0
D	O'CONNOR	16	1	63	*	376	<b>25.</b> 07	4	0
W	SMITH	16	4	69		359	29.92	21	3
D	MARSH	11	1	64		207	20.70	2	0
Α	MC INTYRE	9	0	58		178	19.78	3	0
В	HOOK	フ	1	32	*	139	23.17	2	0
M	CLIFTON	フ	2	54	*	129	25.80	3	0
M	GRIFFIN	6	0	101		125	20.83	1	О
Т	PILLION	12	4	29	*	109	13.62	1	О
D	KITTO	9	0	50		104	11.56	1	0
D	CHYER	13	3	20	*	68	6.80	11	0
M	MOOD	3	1	36	*	50	25.00	0	0
S	WELLS	6	1	14		39	7.80	1	0
P	PASCULLI	フ	4	14	*	35	11.67	2	0
M	RICHARDS	4	0	13		18	4.50	2	0
D	CONROY	2	0	3		3	1.50	3	0
D	MC GLASHAN	2	0	1		1	0.50	0	0

	Player	Overs	Mdns	Runs	Wkts	Average
Т	PILLION	255.2	83	604	33	18.3
D	CHYER	282.2	73	684	26	26.3
P	JEFFERY	105.0	32	284	14	20.3
S	WELLS	59.3	19	159	11	14.5
В	HOOK	72.0	15	214	9	23.8
Р	PASCULLI	117.0	32	316	9	35.1
M	MOOD	66.4	17	174	フ	24.9
D	MC GLASHAN	62.0	10	231	フ	33.0
M	GRIFFIN	2.0	1	1	1	1.0
D	CONROY	1.0	0	5	1	5.0
M	CLIFTON	12.0	6	27	1	27.0
D	MARSH	1.0	0	5	0	0.0
Α	MC INTYRE	3.0	0	3	0	0.0
D	KITTO	5.0	1	12	0	0.0
Α	RAMAGE	5.0	1	12	0	0.0
D	O'CONNOR	22.0	5	53	0	0.1

#### B GRADE REPORT

To achieve the dizzy heights of the previous year was allways going to be a difficult task for those players who represented the club in B Grade this season. I'm pleased to say the team performed well for the majority of the season, without really achieving the results it was capable of. The period Christmas was disappointing, when we lost 2 games convincingly and struggled to find any consistency in our performances. I feel this primarily due to some players not being enthusiastic enough about the game, and treating it as a secondary consideration to their winter activities. Until those players, to whom this is directed, attend to this attitude problem, then unfortunately a lot of cricketing ability is going to be wasted, and individual honours at a higher level unachievable. Also, club and team objectives, and players who have the right attitude are going to be impeded in their progress.

Fortunately, the second half of the season saw an improved attitude which resulted in good wins and the opportunity to once again participate in the finals. History shows that we recorded 3 outright victories during this part of the season, whish is more than I can remember in my whole career: this enabled us to finish in second position at the end of the minor round. After an ideal lead up to the semi-final, it is with regret that I have to report that we were unable to match the opposition's determination and skill on the occasion. (Our opponents just happened to be the side which we defeated in the previous years grand final). However, it must be noted that only four players remained from last years successful unit, and hopefully the new players in the team gained something from the experience that will make them hungrier next year.

From an individual point of view, the club was hopeful that players who showed great potential the previous year would go onto bigger and better things and assist in making the A Grade side a more than competitive unit. Unfortunately this didn't occur to the extent the club would have liked; however some players were able to improve in many areas of the game and also may now be aware of any

deficiencies that need to be addressed.

Congratulations to Ben Hook who was able to cement a regular place in A Grade after some good all round performances, particularly his maiden B Grade century against Glenelg. Also Martin Richards for many good scores and a subsequent century, deserved his opportunity at a higher level. John Leake (at 15 years of age) showed great maturity after a quick rise through the grades and established himself as an opening batsman. With improvement in a couple of areas and more experience, John could establish himself a bright future for himself. Mark Griffin, Jason Hatton, Darryl Conroy, Damien Kitto, Darren Marsh and Jamie Aitken(until injured) all enjoyed success in various matches without really achieving the consistency which they would have liked. Richie Pearce performed admirably behind the stumps and with attention to a couple of areas, along with sound batting should gain from the experience this season and develop into a big contributor next year.

The bowling honours were generally shared for most of the season, with Darren McGlashan proving to be the most potent, and subsequently forcing his way into the A Grade side for a number of matches. With attention to a couple of areas, (to which we have had a number of discussions), Darren, with his experienc can be a valuable contributor to any side, particularly now that his batting performances are reflecting the ability we've always known to be there. Craig Scott also made numerous valuable contributions with bat and ball, and it was no great coincidence that upon his inclusion in the team at the halfway point of the season, that our attitude and togetherness as a side swowed improvement. (Thanks Craig!). Andrew Rossi, Michael Wood, Erin Bernhardt, and Kevin Rimmer all contributed in various games, and hopefully with the experience gained will develop further.

A season wouldn't be complete without the help of a number of people.I would like to thank the coaching staff(Chris Price and Shane Bernhardt) for their support during the year. To John Richards for his scoring efforts and assistance in other managerial duties: I can't thank him enough, because without him the season would have been extremely difficult. Also to Terry Leake and other ladies assisted with afternoon teas, I thank you for your help and hope you will continue with your support next year.

	Player	Inns	ИО	H/S	Out	Total	Average	С	St
М	RICHARDS	12	1	112		509	46.27	5	0
М	GRIFFIN	11	0	109		386	35.09	2	0
R	PEARCE	15	0	63		309	20.60	23	O
J	AITKEN	8	1	83	*	237	33.86	9	O
D	CONROY	8	0	117		230	28.75	3	0
В	ноок	4	2	101	*	202	101.00	2	0
M	CLIFTON	4	0	78		200	50.00	1	O
D	KITTO	- 7	0	97		179	25.57	5	О
Α	MC INTYRE	6	1	67		177	35.40	3	0
J	LEAKE	10	1	45	*	177	19.67	2	0
D	MC GLASHAN	10	3	31		162	23.14	3	O
C	SCOTT	10	0	36		150	15.00	4	0
D	MARSH	5	1	42		141	35.25	1	0
S	WELLS	3	0	54		101	33.67	0	0
J	HATTON	6	0	19		76	12.67	2	0
M	WOOD	6	1	22		74	14.80	2	0
T	NEATE	11	4	21	*	72	10.29	9	0
K	RIMMER	4	2	31		5 <i>7</i>	28.50	2	0
Α	PIOVESAN	4	2	22	*	39	19.50	1	0
Α	ROSSI	10	5	13	*	<i>39</i>	7.80	6	0
S	BERNHARDT	3	1	20		23	11.50	1	Q
D	MCGLASHAN	1	0	20		20	20.00	1	0
G	TOULANTIS	2	0	4		<sub>2</sub> 5	2.50	, O	0
С	PALMER	2	Õ	2	***	3	1.50	0	0
Ε	BERNHARDT	3	1	1		1	0.50	2	× 0
Т	PEARCE	0	0	0		0	0.00	0	0
J	PEARCE	1	0	0		Ì 0	0.00	_ f	0

	Player	Overs	Mdns	Runs	Wkts	Average
_	MO OLAGUAN	247 4		647	40	16.2
D	MC GLASHAN	247.4	66			
С	SCOTT	128.0	32	313	29	10.8
Α	ROSSI	215.5	49	661	26	25.4
Т	NEATE	199.2	68	416	20	20.8
S	WELLS	95.0	21	232	12	19.3
B	HOOK	78.0	15	159	9	17.7
M	MOOD	55.3	25	78	フ	11.1
D	CONROY	57.0	14	174	6	29.0
Ε	BERNHARDT	31.0	8	84	5	16.8
M	GRIFFIN -	4.0	3	13	1	0.21
М	RICHARDS	8.0	2	22	1	22.0
M	CLIFTON	12.0	3	30	1	30.0
K	RIMMER	32.0	7	138	1	138.0
G	TOULANTIS	5.0	0	27	0	0.0
Α	MC INTYRE	1.0	0	11	Ō	0.0
D	KITTO	1.0	1	1	Ö	ũ.O
D	MARSH	1.0	0	1	Q	0.0
D	MCGLASHAN	15.0	Ö	40	0	0.0

#### C GRADE REPORT

It is remarkable how often the final scores of a game or a sides position on a premiership table pre-empts thoughts on the performances behind it.

This season our 'C' grade side was lucky to hold on to fourth spot on the premiership table, and were then convincingly beaten in their finals campaign. However, I would suggest that although 'performances' were not as good as in previous years, the 1990/91 season can be remembered as one of the more successful.

To have 28 players represent the club at this level, of which a number were in their first year of 'C' grade cricket will be a huge bonus for the club in seasons to come.

In fact eleven of the twelve players who participated in the semi final were under nineteen years of age.

The experience gained by these players this season will certainly assist in their cricket development and has also provided the club with an indication of those players capable of going all the way.

Inconsistency was probably our biggest downfall and although most of the players put in some good individual performances, they need to start stringing these together in order to progress to higher grades.

In the batting department Steve Lowry, Michael Avon, Andrew Eastwood, Simon Williamson, Rhys Barker and Erin Bernhardt all put in some match winning performances and provided they build on these next season, will have what it takes to play higher grade cricket.

Our bowling was definitely our strength with Erin Bernhardt dominating with the ball. His progression to the 'B' grade was well deserved and he now has the opportunity to establish himself as a genuine allrounder. Erin was more than ably supported by Michael Jones, George Toulantas and Daniel Rossetto who all indicated they can pressure for a 'B' grade berth next year.

It would be amiss of me not to mention the little bloke behind the stumps as Justin Ifould's performance this season was fantastic. He just keeps getting better week after week.

I mentioned at the presentation night that I enjoyed cricket more this year than any other season I have played. This was mainly due to the character of the guys I played along side of, as well as the manner in which they approached the game. I thank them for their support.

To Anne Avon, my personal thanks for a job well done. Unfortunately parental support is something that is slowly slipping away yet Anne was there every week to make my job easier.

Finally, to be awarded the Sir James Irwin Memorial Trohpy was a great personal honour. It capped off an enjoyable and rewarding year.

SHANE BERNHARDT

	Player	Inns	NO	H/S	Out	Total	Average	С	St
S	BERNHARDT	12	1	97		405	36.82	7	0
S	LOWRY	16	1	53		281	18.73	6	О
Α	EASTWOOD	12	0	46		238	19.83	1	О
J	HATTON	8	1	76		231	33.00	1	0
K	RIMMER	4	0	78		196	49.00	0	0
R	BARKER	10	0	37		180	18.00	2	0
Ε	BERNHARDT	10	1	42		164	18.22	3	0
М	MOOD	7	1	61	*	152	25.33	2	0
М	AVON	15	4	32	*	152	13.82	5	O
a	CONROY	1	0	142		142	142.00	0	0
J	IFOULD	13	4	21	*	132	14.67	27	0
S	WILLIAMSON	10	0	64		129	12.90	2	0
М	JONES	11	1	32		123	12.30	6	0
М	CARMAN	フ	2	37	*	103	20.60	1	0
С	SCOTT	3	1	44	*	96	48.00	0	0
G	TOULANTIS	7	2	36	*	81	16.20	1	0
J	AITKEN	2	0	53		80	40.00	2	0
P	WILLIAMS	1	0	フフ		77	77.00	0	0
P	WILLIAMS	1	0	77		77	77.00	0	0
J	LEAKE	1	0	69		69	69.00	1	0
D	ROWE	4	0	29		65	16.25	3	0
S	WELLS	1	0	50		50	50.00	Q	0
D	ROSSETTO	フ	4	18		43	14.33	1	0
D	MURDOCK	1	0	8		8	8.00	0	0
В	KITTO	2	0	4		6	3.00	0	0
R	CAIRNEY	2	0	3		4	2.00	0	0
S	MARAUN	0	0	0		0	0.00	2	0
В	BIRRELL	2	2	0		0	0.00	1	0

	Player	Overs	Mdns	Runs	Wkts	Average
Ε	BERNHARDT	195.4	53	502	30	16.7
М	JONES	155.2	43	411	22	18.7
G	TOULANTIS	159.3	39	414	21	19.7
D	ROSSETTO	130.5	23	450	17	26.5
М	WOOD	61.5	20	179	8	22.4
K	RIMMER	24.4	10	63	5	12.6
М	CARMAN	30.0	6	91	5	18.2
D	ROWE	37.3	2	26	3	8.7
S	MARAUN	7.0	1	28	2	14.0
С	SCOTT	22.2	3	69	2	34.5
J	AITKEN	4.0	1	6	1	6.0
В	KITTO	7.0	1	17	1	17.0
D	CONROY	10.1	0	23	1	23:0
J	HATTON	14.0	2	45	1	45.0
P	WILLIAMS	23.0	7	60	í	60.0
Ρ	WILLIAMS	23.0	フ	60	1	60.0
S	WILLIAMSON	24.0	3	67	1	67.0
В	BIRRELL	40.0	5	131	1	131.0
S	WELLS	4.0	2	フ	0	0.0
М	AVON	0.2	0	8	0	0.0
S	LOWRY	2.0	0	3	0	0.0
Α	EASTWOOD	1.0	0	11	0	0.0

Following the D grade premiership of last season, it was daunting but also gratifying to note that virtually from the outset of this season only the captain remained from that team. Most of the young players had been rewarded with promotion as a result of their performances and surely this is a prime function of D grade cricket. The opportunity to play senior cricket was therefore available to a "new" group of juniors and they most willingly and enthusiastically grabbed the chances.

From the outset John Leak and Ryan Cairney showed great promise as opening batsmen. It's history now that John enjoyed a fine season culminating in B grade selection. Ryan unfortunately lost form and confidence but I'm sure that with some hard work Ryan has a bright future with the club. Adam Maddison (named U/16 Red captain) received an early opportunity to play D grade and played the remainder of the season showing great promise in all departments of the game but lacking consistency — this will come! Michael Avon and Andrew Eastwood played early games but were soon promoted to C grade. John Taglienti came into the team after Christmas and showed glimpses of real class both with the bat and in the field. Brenton Kitto showed that he is a fine striker of the ball but all too often allowed himself to be dismissed before fully showing his ability. By virtue of excellent batting performances in the U/17 carnival in January, Cavin O'Reilly came into the team as an opening batsman and played a number of fine innings under difficult circumstances.

On the bowling side, at various times, Craig Wood, Daniel Rossetto and Mark Carman made excellent contributions. Simon Hatji, however, showed that honest hard work pays off and by maintaining a tremendous line and length he enjoyed a fine season. Shane Parslow showed a touch of class on occasions and has unlimited potential as a left arm opening bowler and lower order batsman. Brad Birrell came into the side as an off break bowler. Brad is a fine prospect as an all rounder but I feel that he needs to consolidate again and take some bags of wickets and score big runs — there is no reason why he can't do this in a senior grade however. Shane Maraum also had a taste of D grade cricket and was unfortunate not to retain his place at the end of the season. Shane, too, has great potential as an all-rounder not just as a bowler.

With such a turnover of players and given the youth of the team it was indeed gratifying to reach the finals — a reflection of the great potential that these boys possess. Unfortunately our fielding in particular let us down in that semi-final and we were soundly beaten. Nevertheless the experience of playing senior finals cricket should be an invaluable learning tool for all concerned.

I would like to thank David Murdock who occasionally deputised for me and also offered valuable on-field advice throughout the season apart from scoring a heap of runs. Sincere thanks to Graham Birrell and Bob Reid for their great support and willing off-field assistance throughout the season. Thanks also to Jill and the kids for cheerfully allowing another summer to be occupied with cricket. I also gratefully acknowledge the support of Chris Price over the pest season.

Finally thank you to all of the players who represented the D grade this year and particularly those still eligible for junior grades. Remember D grade is just a stepping stone not a final resting place.

Peter Williams.

	Player	Inns	NO	H/S	Out	Total	Average	C	st
Р	WILLIAMS	10	3	127	*	377	53.86	5	О
	MURDOCK	フ	1	91	*	269	44.83	2	0
	MADDISON	15	1	53		268	19.14	5	0
	EASTWOOD	3	0	104		212	70.67	2	0
М	CARMAN	8	0	78		184	23.00	4	0
J	TAGLIENTI	8	1	69	¥	168	24.00	5	0
G	O'REILLY	9	0	48		164	18.22	5	0
J	LEAKE	3	0	106		135	45.00	2	0
В	KITTO	フ	1	61	*	122	20.33	1	0
R	BARKER	4	0	37		105	26.25	0	0
M	JONES	3	1	40		103	51.50	Q	0
R	CAIRNEY	7	1	71		100	16.67	3	0
В	BIRRELL	11	3	27		82	10.25	2	0
S	MARAUN	7	3	43	*	76	19.00	0	0
S	HEYWOOD	7	1	25		65	10,83	9	0
S	LOWRY	2	0	47		60	30.00	2	0
M	AVON	1	1	55	*	55	0.00	1	0
Ş	HATJI	6	3	22	*	42	14.00	5	0
Α	BANNON	3	0	18		<b>35</b>	11.67	2	0
Α	PODGER	1	0	28		28	28.00	3	0
T	PEARCE	2	0	13		24	12.00	0	O
S	PARSLOW	5	2	17		23	7.67	2	0
С	COOPER	3	0	13		20	6.67	2	0
G	LOVERING	2	0	12		· 19	9.50	2	Q
Р	AMATO	. 4	O.	7	\$7.	13	3.25	フ	0
P	PETERSEN	2	1	11	*	11	11.00	1	ୃ
G	TOULANTIS	3.	1	8	*	11	5.50	1	• 0
С	MOOD	1	0	10		10	10.00	O_	0
S	LITTLE	1	0	6		```6	6.00	ar O	0
Α	FORDE	2	1	4		4	4.00	1	0
M	HARRIS	1	O	3		3	3.00	0	Ö
J	MARAUN	О	0	0		0	0.00	O	0
J	CURRY	0	0	0		0	0.00	О	0
D	ROSSETTO	1	0	0		0	0.00	0	0

	Player	Overs	Mdns	Runs	Wkts	Average
Р	WILLIAMS	210.2	81	427	34	12.6
S	HATJI	174.2	44	406	22	18.5
В	BIRRELL	153.0	40	462	21	22.0
M	CARMAN	61.3	19	146	14	10.4
S	PARSLOW	123.0	31	330	14	23.6
M	JONES	76L0	. 23	112	10	11.2
S	MARAUN	59,0	11	228	8	28.5
D	ROSSETTO	41.0	10	102	フ	14.6
Α	MADDISON	44.1	11	151	6	25.2
Α	FORDE	49.0	5	200	6	33.3
В	KITTO	39.0	9	1.73	3	<b>5</b> 7.7
G	O'REILLY	6.0	0	37	2	18.5
J	MARAUN	18.0	1	62	2	31.0
P	PETERSEN	26.0	5	96	2	48.0
С	COOPER	18.0	6	44	1	44.0
R	BARKER	1.0	0	9	O	0.0
R	CAIRNEY	2.0	1	14	0	0.0
C	MOOD	34.0	8	68	O	0.1

#### E GRADE REPORT

The year for us finished on a high note, withus winning our last two games - the last of which involved beating eventual premiers Glenelg.

But I can"t help feel a little hollow, as the success in those games proved that we could have had a more successful year. Our win/loss record goes something like this: three wins, four losses, four draws, and one forfeit. I don't believe that the record for 90/91season is all that bad; especially considering the number of times we played with 9-10 players and 3-4 fill-ins to boot.

If the club is to rise to greater heights, there is a definite need for a change in attitude; particularly by the players. There was a real sense of apathy during the year. One wonders why some blokes even bothered! But then again we would have really struggled for numbers without them.

Enough negatives. Some positive things have come from the season. It was the emergence of younger players, while noy having the same ability as others, showed that perseverance and hard work pays dividends. I speak in particular of Gavin O'Reilly, who at one stage could not make the E Grade, but ended up playing ther D Grade final; the run making feats of Craig Cooper, who showed a lot of class when batting at first drop; and James Curry, whose leg spin yielded something like 9 wickets for 120 runs from 60 overs in the last two games.

Finally I would like to thank the efforts of the coaching staff, the committee the social committee and assorted volunteers like the afternoon tea makers, the scorers and supporters in general. I've enjoyed the year — with a little more dedication and and team spirit, Adelaide will go places this coming season.

DAVID DELAPORTE.

	Player	Inns	NO	H/S	Out	Total	Average	С	St
С	COOPER	9	3	82	*	253	42.17	1	o
S	MARAUN	6	0	フဒ		186	31.00	1	Q
S	HEYWOOD	フ	1	51	*	186	31.00	5	0
Α	BANNON	11	1	44		181	18.10	7	O
P	PASCULLI	2	1	98	*	175	175.00	1	0
Т	PEARCE	フ	0	34		138	19.71	0	0
D	DELAPORTE	8	1	49	*	135	19.29	5	0
Α	ARMOUR	11	1	30		119	11.90	3	O
J	CURRY	11	1	2 <b>6</b>		117	11.70	0	0
R	CAIRNEY	3	0	59		113	37.67	1	0
D	MURDOCK	1	1	105	*	105	0.00	0	0
S	WELLS	1	0	75		75	75.00	0	0
В	PRIEST	3	0	34		66	22.00	1	0
s	LITTLE	7	1	25		63	10.50	6	O
G	O'REILLY	4	0	32		50	12.50	1	0
M	RICHARDS	1	0	42		42	42.00	0	0
C	WOOD	4	2	19		34	17.00	1	0
С	SCOTT	1	0	32		32	32.00	0	0
S	PARSLOW	2	1	24		26	26.00	1	0
P	PETERSEN	1	1	26	*	26	0.00	0	0
S	FOWLER	2	1	11		12	12.00	0	0
Α	FORDE	2	0	9		12	6.00	1	0
М	OLLIFFE	2	0	フ		9	4.50	2	0
Т	CANNELL	2	2	4	*	6	0.00	0	0
A	BARTON	1	0	3		3	3.00	0	0
М	HARRIS	1	0	2		2	2.00	0	0
	VAHLOS	1	0	2		2	2.00	0	0
D	PEDERSEN	2	1	2		2	2.00	1	0
Α	DADDOW	1	0	1		1	1.00	2	0
Т	BRAITHWAITE	2	0	1		1	0.50	0	0
S	HATJI	0	0	0		0	0.00	3	0

	Player	Overs	Mdns	Runs	Wkts	Average
J	CURRY	118.0	27	325	11	29.5
S	PARSLOW	70.2	13	185	10	18.5
S	MARAUN	57.1	15	190	9	21.1
C	COOPER	89.2	21	273	8	34.1
С	SCOTT	17.0	8	30	フ	4.3
S	LITTLE	49.0	16	114	7	16.3
S	HATJI	25.0	6	64	6	10.7
Α	FORDE	91.0	21	264	5	52.8
Ρ	PETERSEN	25.2	5	93	4	23.2
Т	PEARCE	42.0	フ	145	4	36.2
Α	ARMOUR	8.3	1	24	3	8.0
¢	WOOD	24.0	8	51	3	17.0
s	WELLS	8.0	4	14	2	7.0
S	HEYWOOD	14.0	6	20	2	10.0
G	O'REILLY	31.0	9	76	2	38.0
М	RICHARDS	4.0	0	11	1	11.0
D	DELAPORTE	25.0	4	95	ī	95.0
Т	CANNELL	5.0	1	20	0	0.0

#### RAY SUTTON SHIELD REPORT

The short Ray Sutton Shield season which is played over October and November was a very enjoyable experience for both myself and the boys involved. For most it was their first look at turf pitches and District Cricket. It was very much a learning experience for everyone.

Our squad at Adelaide was very young and many of them will be back in the team next year which is very positive. The skills and attitudes developed this year will stand them in good stead for next and future years.

Overall the boys presented themselves very well, both on and off the field. There were some outstanding individual performances throughout the season and a very good team spirit developed amongst the boys. It was unfortunate that they didn't experience the success as a team that they worked for and deserved but cricket tends to be like that.

The personal development of the boys was very noticeable in their successes in the under 14 White competition. This is an indication of the potential within the group of boys. I'm sure we will hear more of them in the near future.

Thank you ALL for making it such an enjoyable season and good luck for next year.

MARTIN RICHARDS COACH

	Player	Inns	ИО	H/S	Out	Total	Average	С	St
J	LEAKE	8	o	116		311	38.88	1	0
G	O'REILLY	7	0	73		278	39.71	0	0
S	WILLIAMSON	8	0	44		186	23.25	5	0
M	AVON	7	2	41	*	136	27.20	2	0
J	IFOULD	6	3	25		98	32.67	13	2
В	KITTO	4	1	37		74	24.67	2	0
Α	MADDISON	6	0	19		65	10.83	1	0
G	TOULANTIS	6	2	15		62	15.50	3	0
S	MARAUN	6	2	14		45	11.25	2	0
С	COOPER	3	0	18		34	11.33	1	0
В	BIRRELL	5	3	14	*	31	15.50	2	0
R	CAIRNEY	2	0	14		15	7.50	0	0
S	HATJI	2	1	4	*	6	6.00	1	0
J	CURRY	3	2	1	*	1	1.00	0	0

	Player	Overs	Mdns	Runs	Wkts	Average
						-
B	BIRRELL	80.5	13	234	14	16.7
S	HATJI	48.0	13	142	11	12.9
G	O'REILLY	25.0	5	67	8	8.4
S	WILLIAMSON	52.1	7	152	8	19.0
S	MARAUN	53.2	11	164	7	23.4
В	KITTO	31.0	7	105	5	21.0
J	CURRY	19.1	7	49	4	12.2
Ç	COOPER	17.5	4	46	3	15.3
М	AVON	8.0	0	25	2	12.5
G	TOULANTIS	36.0	1.1	90	2	45.0
Α	MADDISON	2.0	0	3	0	0.0

#### WOMENS A GRADE REPORT.

It certainly is a pleasure writing this, the first Womens A Grade report for the Adelaide Cricket Club.

In a season of upheaval, amalgamations and a change of training venue, we have managed to meld into a strong working unit. Taking out a premiership is always the aim of any team, but this pennant was more rewarding under the circumstances. I would like to thank all members of the club for making the womens teams feel so welcome and to all committee members for their assistance. We can only feel confident about our future years together.

Much credit for our achievements this year must go to our coach Jan Hinkly. Jan's professionalism and dedication stood us all in good stead, both on and off the field. Thanks to Miranda Bradley for her support as my vice-captain this year and to Judy Rolton for having drinks and afternoon tea organised, and for being a supportive figure around the place.

Finally to a great team of cricketers, some are extremely talented and others are stubborn triers, but as a combination they proved almost unbeatable. Special congratulations to Lee-Anne Hunter for taking out the associations top award, Player of the Year, and to Karen Rolton, Miranda Bradley and Donna Laity for achieving state selection. To all the 1990-91 A Grade Premiership team, congratulations and let's make it two in a row.

Lyn White. accwoma

	Player	Inns	NO	H/S		Total	Average	С	st
L	HUNTER	10	1	116		494	54.89	1	0
K	ROLTON	フ	2	72		225	45.00	2	0
M	BRADLEY	8	2	66	*	196	32.67	8	0
J	THOMAS	9	2	58		184	26.29	5	0
<b>i</b> _	GIARETTO	8	3	53	*	174	34.80	8	0
1.	WHITE	6	4	42	¥	88	44.00	3	0
T	WILSON	7	1	21	*	52	8.67	2	0
S	STACEY	6	1	21	*	43	8.60	6	0
D	LAITY	9	0	23		42	4.67	0	0
K	MONS	2	1	27		39	39.00	2	0
M	GORROICK	2	1	22	*	22	22.00	O	0
J	CALDECOURT	2	1	10		11	11.00	2	0
J	CLARKE	1	0	Q		0	0.00	0	O
E	RALTON	0	Q	0		0	0.00	0	0
M	YOUNG	1	0	0		0	0.00	0	0
R	ANDREWS	O	Q	0		0	0.00	0	0
K	MACSWEEN	0	0	0		0	0.00	0	Ω
K	WEAVER	0	0	0		0	0.00	0	0
В	SMITH	0	0	0		0	0.00	1	0

### BOWLING STATISTICS

-----

	Player	Overs	Mdns	Runs	Wkts	Average
L	HUNTER	201.3	88	307	45	6.8
M	BRADLEY	123.3	38	233	24	9.7
K	ROLTON	119.3	33	239	10	23.9
S	STACEY	51.0	13	135	6	22.5
11	GORROICK	31.5	4	76	5	15.2
L,	GIARETTO	27.0	5	89	3	29.7
J	CALDECOURT	5.0	1	17	2	8.5
J	THOMAS	13.0	3	20	1	20.0
J	CLARKE	2.0	1	3	0	0.0
K	WEAVER	4.0	1	3	Ō	0.0

#### Womens Team B Gold.

The team came together very well with players from Mercury and Olymoic quickly combining into a competitive unit. The early games in the season were marred by the weather costing valuable premiership points and not giving players the chance to bat.

Each person in the team found their chance came along to find a niche for themselves in various places particularly Sharon Stace who became our specialist slips fielder with considerable amount of success.

Our opening bat combination Chris Watt and Mary-Anne Young complimented each other during their partnerships more often than not ensuring we made a good start.

The bowlers responded well and improved from being quick and anywhere to quick and accurate which will give them a good basis to start from next year. Unfortunately we lost Jodie Burrows-Wray through illness from Christmas but Jo Clarke, Kathryn Cherry and Jackie Caldecourt worked well and kept taking the wickets.

We were extremely fortunate to have a wicket keeper with much tenacity who earned the nick name "Miss Grimace" because of the injuries to her hands Julie Hardman often grimaced just prior to taking the ball in her hands. I am extremely pleased that Julie won the SAWCA wicket keeping trophy.

I have named but a few players but those not named are not rated any less over the year because without all the team would not have progressed to the semi-finals.

Finally I would like to thank Jill Dempsey who acted as our team manager this year and on some occasions dashed home to get her Whites to take the field. Just goes to show Jill's versatility.

JAN HINKLY

#### 

=======================================	===:		====	===	:=	==	=	=	==	==
---	------	--	------	-----	----	----	---	---	----	----

	Player	Inns	NO	H/S		Total	Average	С	st
С	WATT	12	4	54		265	33.12	3	0
М	YOUNG	9	1	78		233	29.12	5	0
J	HARDMAN	7	0	97		189	27.00	7	0
T	WILSON	2	2	128	*	171	0.00	1	0
J	HINKLY	6	1	30	*	89	17.80	3	0
L	WHITE	1	1	72	*	72	0.00	0	0
s	STACE	8	1	21	*	5 <i>9</i>	8.43	4	0
J	CLARKE	6	0	17		42	7.00	4	0
J	CALDECOURT	5	0	12		41	8.20	3	0
R	ANDREWS	8	4	12	*	35	8.75	3	0
К	CHERRY	8	2	10	*	35	5.83	5	0
J	BURROWS-WRAY	1	0	32		32	32.00	2	0
т	RILEY	3	2	6	*	7	7.00	2	0
В	SMITH	3	1	1	*	2	1.00	3	Q
R	HALL	2	1	1	×	1	1.00	0	0
K	WELLS	0	0	0		Q	0.00	1	0
J	THOMAS	0	0	О		0	0.00	0	0
R	SANDERS	0	0	0		0	0.00	0	0
J	DEMPSEY	0	0	0		0	0.00	0	Q
C	STACEY	0	0	0		0	0.00	0	0

	Player	Overs	Mdns	Runs	Wkts	Average
-	HINKLY	148.0	76	139	22	6.3
J		104.1	39	148	21	7.0
J	CLARKE					15.2
М	YOUNG	109.1	30	258	17	
K	CHERRY	119.5	38	237	16	14.8
J	BURROWS-WRAY	64.0	17	123	13	9.5
J	CALDECOURT	67.0	81	146	8	18.2
R	HALL	25.0	5	61	2	30.5
С	WATT	3.0	0	16	1	16.0
R	ANDREWS	5.0	0	28	1	28.0
K	WELLS	24.2	8	51	1	51.0
J	THOMAS	4.0	1	9	0	0.0
S	STACE	1.0	0	15	O	0.0
T	WILSON	2.0	1	2	0	0.0
В	SMITH	11.0	2	30	O	0.0

#### WOMEN'S B GRADE - ADELAIDE RED

The 1990/91 season for the Reds proved to be quite successful. With a number of new players in the side, along with the merger, to get into the Final was an achievement and the players, both individually and as a team, all did well to attain this.

Throughout the year, the team as a whole improved with every game and kept trying their hardest to do well. New players constantly put in a hundred percent to improve their own game and improvements were noticed, whilst the older players encouraged and performed well. Unfortunately, our side's attendances at practices was very poor, with the exception of the constant, same few who came each week - hopefully, matters will improve next season.

Nevertheless, it was great to get to the Finals and I was thrilled with the way the girls came out and won the last few games of the season – especially against Sturt in the minor round and then against Adelaide Gold in the Semi-final. Unfortunately, we did not play the Final to our full potential and were beaten by a better side on the day.

I would just like to add that Chris Stacey was a great help during the entire season and I have enjoyed my first season at Adelaide greatly.

RACHEL HIGGINS.

i	Player		Inns	NO	H/S		Total	Average	С	st
C s	STACEY		14	1	83	¥	345	26.54	4	0
RI	HIGGINS		15	2	48	*	312	24.00	3	0
K I	MACSWEEN		12	3	52	*	284	31.56	3	. 0
LI	MAYNE		12	6	45	*	198	33.00	3	0
JI	LINKE		10	2	46	*	174	21.75	10	0
L	D'MEARA		3	1	103	*	129	64.50	0	0
Di	LAITY		3	1	42		73	36.50	0	0
KI	ROLTON		2	O	49		57	28.50	0	0
F. 1	WEAVER		4	1	24		41	13.67	0	0
E	KENNEDY		フ	3	10		38	9.50	2	0
8.0	CARSON		2	0	30		30	15.00	0	0
A (	CORNISH		3	0	12		23	7.67	0	0
i_ (	GIARETTO		1	1	14	¥	14	0.00	0	0
ទ	BTACEY		1	1	13	*	13	0.00	0	0
S	TOHNSON		1	0	5		5	5.00	0	0
K I	KITTO		2	2	4	*	5	0.00	1	0
₩ (	CARTER		5	0	3		4	0.80	1	0
Е (	CAMPBELL		5	2	2	*	3	1.00	1	0
A	JAINSAR		1	0	0		0	0.00	0	0
DI	HANSEN		1	0	0		0	0.00	0	0
R	COOK		0	0	0		<i></i> 0	0.00	1	0
T 1	NELSON	,5° II	2	· - O	0-		. 0	0.00	10	Q

	Player	Overs	Mdns	Runs	Wkts	Average
J	LINKE	150.1	60	296	26	11.4
K	MACSWEEN	188.1	58	319	22	14.5
R	HIGGINS	123.5	23	357	19	18.8
К	ROLTON	17.1	6	29	12	2.4
С	STACEY	52.4	10	127	11	11.5
K	WEAVER	92.0	30	190	9	21.1
S	STACEY	19.0	6	20	8	2.5
D	LAITY	24.0	フ	47	5	9.4
L	O'MEARA	49.4	フ	147	5	29.4
L	MAYNE	17.0	3	65	3	21.7
К	KITTO	11.0	3	21	2	10.5
E	KENNEDY	13.0	0	52	2	26.0
Α	CORNISH	12.2	4	19	1	19.0
W	CARTER	7.0	0	19	0	0.0
s	JOHNSON	9.0	3	9	0	0.0

#### JUNIOR CO-ORDINATOR'S REPORT.

With the 90/91 season behind us, it is time to reflect on what has been and where we need to channel our efforts to continue in our endeavour to strengthen our junior ranks and thus contribute even more to bolstering our senior ranks with players capable of playing cricket at the highest level.

To address the first part of the opening statement, we have had as a club the pleasure and satisfaction of seeing a greater than usual number of juniors playing senior cricket and in quite a few instances aquitting themselves very successfully, and in almost every instance there was indication that all juniors taken into senior ranks have shown that with the hard work and dedication required they have the ability to advance through the grades, and I wish to thank the senior coaches for allowing these boys the opportunity to prove their ability to be competitive at this level.

As to the second part of the opening to this report, I guess it has all been said as to the tender age and inexperience of our under 14 teams, and the manner in which they competed throughout the season.

To the Shell Shield team, and the under 14 Red, I add my congratulations to those which have been heaped on them from within the club.

To Shane Bernhardt, Darren Marsh and their assistants, thank you for a very well conducted coaching clinic.

To the committee of the Club a sincere thanks for the support given me in my first year as Junior Co-ordinator, and finally to the coaches and parents who supported the juniors in the many areas where help is essential, I extend the thanks and gratitude of the Club and look forward to your continued support in the forthcoming season.

In closing may I say that with the projects already commenced and extra works being channeled into the area of our primary schools, coupled with the coaching talent available to us it would seem that the 91/92 season for our juniors should be an exciting and rewarding period for us all, and I hope to see you all participating in, and enjoying the achievements of our boys.

THANKS FOR THE SEASON 1990/91

ALAN MITCHELL JUNIOR CO-ORDINATOR.

#### ADELAIDE CRICKET CLUB/UNDER 16 RED

The 1990/91 season for the under 16 Red finished with 7 wins and 5 losses. This however was not good enough for the players to represent this years finals. Although the players throughout the year tried very hard they can be reasonably satisfied with their individual achievements.

The season for the Under 16's was unsettled to a large degree, due to the lack of numbers required, which was brought about by College committments etc.

There are a number of people I would like to thank personally for there efforts throughout the year.

Mr D Schmitt - Team Manager

Mrs A Forster - Scorer

Mr A Mitchell - Junior Co - Ordinator.

The individual trophy winners are as follows:

Batting : Justin Schmitt Bowling : Jason Gillespie Fielding : David Forster

Highlights of the Year - Justin Schmitt / 101 Not Out
Adam Maddison / 136 Not Out

Ken Lovering Under 16 Red/Coach

	Player	Inns	NO	H/S	Out	Total	Average	С	St
J	SCHMITT	13	3	101	*	415	41.50	5	Q
a	FORSTER	13	0	58		250	19.23	6	0
G	LOVERING	10	0	61		223	22.30	3	0
J	TAGLIENTI	4	0	68		169	42.25	4	0
J	GILLESPIE	7	1	67	*	146	24.33	フ	0
Α	MADDISON	2	2	136	*	144	0.00	0	0
N	EARLE	6	1	23	*	92	18.40	9	0
W	MITCHELL	9	0	29		90	10.00	4	О
R	GREGORY	3	0	67		69	23.00	0	0
D	WORTHLEY	3	0	59		69	23.00	1	0
Α	ROBERTSON	3	0	58		67	22.33	3	0
B	RICHARDSON	9	2	16		64	9.14	6	О
С	MC ASSEY	フ	3	25	*	55	13.75	3	0
S	O'LEARY	3	1	27	*	47	23.50	3	0
Т	SPAWTON	2	0	31		42	21.00	0	0
S	MC GUIRE	7	0	21		38	5.43	2	0
	JOB	2	2	16	*	22	0.00	0	0
Т	MABLESON	1	0	フ		フ	7.00	0	О
T	CANNELL	1	1	6	*	6	0.00	0	0
Α	RICKARDS	2	0	3		4	2.00	1	0
S	KRAWCZYK	1	1	4	*	4	0.00	6	0
С	LOVERING	1	1	3	*	3	0.00	0	0
G	VAUGHAN	1	1	3	*	3	0.00	1	0
Α	NITSCHKE	1	0	2		2	2.00	0	0
S	THIELE	1	0	1		1	1.00	0	0
D	RAPONI	2	0	1		1	0.50	1	0
Т	GILBOURNE	1	1	1	*	1	0.00	0	0
М	EVANS	0	0	0		0	0.00	0	0
T	BRAITHWAITE	1	0	0		0	0.00	0	0
М	SHEEHY	1	0	0		0	0.00	0	О

BOWLING STATISTICS

Player Overs Mdns Runs Wkts Average

J GILLESPIE	98.0	23	203	18	11.3
J SCHMITT	55.5	9	179	15	11.9
W MITCHELL	135.1	24	430	14	30.7
G LOVERING	39.0	3	156	12	13.0
A ROBERTSON	44.0	6	139	10	13.9
D RAPONI	42.2	フ	124	9	13.8
S MC GUIRE	45.0	4	164	6	27.3
B RICHARDSON	68.1	13	216	6	36,0
D FORSTER	35.0	6	125	4	31.2
T MABLESON	4.0	0	4	3	1.3
JOB	13.0	4	42	2	21.0
T CANNELL	12.0	1	42	2	21.0
A MADDISON	13.0	4	43	2	21.5
C LOVERING	2.0	1	2	1	2.0
G VAUGHAN	3.0	0	13	1	13.0
J TAGLIENTI	7.0	1	26	1	26.0
T GILBOURNE	16.0	2	61	1	61.0
R GREGORY	3.0	0	14	0	0.0
M SHEEHY	3.0	2	1	0	0.0
M EVANS	7.0	0	39	0	0.0
S O'LEARY	2.0	0	9	0	0.0
S THIELE	12.0	3	41	0	0.0
A NITSCHKE	14.0	2	41	O	0.0

#### ADELAIDE GOLD UNDER 16 SEASONS REPORT

During the 1990/91 season Adelaide fielded two teams in the Under 16 Red competition.

The Gold selection, which was more the inexperienced combination, acquitted themselves well during the season against experienced opposition.

The pressure of this type of cricket brought with it a necessity to adopt a mature approach and I am sure a number of players have gained from the experience.

The team was further disrupted by players moving to higher club grades and to the Independent Schools competition. The players who joined the team to fill these vacancies acquitted themselves well, particularly as they often were selected at very short notice.

The results do not demonstrate the effort of the team. It recorded two excellent first innings wine against Elizabeth and Glenelg, but the losses were close things. Finalists Prospect were genuinely concerned at the closeness of their match with the Gold XI as were Sturt, West Torrens and Kensington.

The players who made a valuable contribution were the early season Captain Nathan Falconer, (Scotch), David Castello (Albury NSW), and Daniel Worthley (Westminister) who was also the highest scorer with 96, and Thomas Crago (Athletics S.A.). I would like in particular to acknowledge the effort of Jason Gillespie, his bowling award was most deserved especially as he was recovering from a back injury.

In the latter part of the season Scott McGuire assumed the captaincy and led by example both with the ball and the bat.

He was well supported by Shaun Krawczyk behind the stumps Michael Evans, Adrian Rickards and Ben Richardson-Pearne.

Finally I would like to acknowledge the effort put in by Ken and Julie Lovering in what was administratively a difficult season.

To those parents who helped out special thanks to Ziggy Krawczyk for looking after the last game and deputising at others, also

Messers Evans, Rickards, Gillespie, Milton, Mr and Mrs O'Leary, Mr and Mrs Thiele and Mr and Mrs Cannell for their willing assistance during the season

Tony Spawtom Manager

	Player	Inns	NO	H/S	Out	Total	Average	С	St
a	WORTHLEY	4	0	96		201	50.25	3	0
R	GREGORY	11	1	43		197	19.70	1	O
S	MC GUIRE	6	0	68		151	<b>25.</b> 17	1	0
N	FALCONER	9	0	28		107	11.89	4	O
Т	CRAGO	4	1	30	*	94	31.33	0	0
S	KRAWCZYK	9	1	18		94	11.75	2	0
D	CASTELLO	フ	0	31		92	13.14	6	0
M	EVANS	フ	4	76	*	86	28.67	1	0
T	GILBOURNE	8	1	16		フフ	11.00	3	0
С	MILTON	6	1	30		67	13.40	3	0
M	SHEEHY	11	3	31	*	66	8.25	3	0
Α	SHAW	4	2	25	*	51	25.50	0	0
J	GILLESPIE	6	0	35		49	8.17	5	0
s	O'LEARY	8	0	18		48	6.00	3	О
Α	RICKARDS	8	1	20		38	5.43	2	0
В	RICHARDSON	2	0	31		31	15.50	0	0
D	CHAMBERS	1	0	30		30	30.00	1	0
T	SPAWTON	6	0	11		30	5.00	0	0
S	THIELE	フ	0	14		25	3.57	1	0
C	MC ASSEY	3	0	フ		13	4.33	0	0
Т	CANNELL	7	1	6		8	1.33	1	О
Α	PODGER	2	0	6		フ	3.50	1	0
J	TAGLIENTI	1	0	4		4	4.00	0	0
T	BRAITHWAITE	2	0	2		4	2.00	0	0
K	EYLES	1	0	0		0	0.00	0	0

	Player	Overs	Mdns	Runs	Wkts	Average
s	MC GUIRE	79.0	16	189	12	15.8
J	GILLESPIE	59.4	14	180	11	16.4
M	EVANS	108.0	17	334	10	33.4
D	CASTELLO	44.3	8	123	8	15.4
Т	CRAGO	42.0	9	144	7	20.6
М	SHEEHY	38.0	6	159	フ	22.7
S	THIELE	36.0	11	78	6	13.0
Ν	FALCONER	52.0	5	167	6	27.8
В	RICHARDSON	28.0	4	85	5	17.0
Α	PODGER	16.0	2	47	4	11.8
S	O'LEARY	13.0	2	54	4	13.5
T	SPAWTON	47.0	6	152	4	38.0
Α	SHAW	7.0	0	38	2	19.0
R	GREGORY	18.4	4	58	2	29.0
T	GILBOURNE	30.0	3	107	2	53.5
С	MILTON	4.0	0	27	1	27.0
Т	CANNELL	36.0	2	174	1	174.0
K	EYLES	1.0	O	13	0	0.0
S	KRAWCZYK	1.0	0	6	0	0.0
D	CHAMBERS	1.0	0	8	0	0.0
T	BRAITHWAITE	1.0	0	8	0	0.0
J	TAGLIENTI	2.0	Ö	13	0	0.0

#### UNDER 14 RED REPORT

I wish to commend all members of the side for a most enjoyable and successful season. In winning 10 from 12 minor round games and thereby finishing second on the ladder, the right to play in the finals was a just reward for effort. Unfortunately the boys reserved their worst day for the season for a semi-final appearance against East Torrens Red when nerves and a lack of belief in their own ability saw them eliminated. In typical fashion however the boys fought the game out to the last ball and showed great character to restrict a very good batting side to an ordinary score on the second day of the game.

Throughout the season the boys played the game with a great spirit of sportsmanship and feeling for each other. In particular I would like to recognise the ability of all the boys to do their bit when the chips were down. The even nature of the side resulted in us being able to work our way out of trouble on numerous occasions and thereby win the game.

In the bowling department I believe the boys learned much about keeping the ball up and relying on movement in the air and off the track to draw errors from the batsmen. A special commendation to Brad Nicholas who won the bowling trophy with 46 wickets and bowled consistently with great venom and pace. Such an outstanding individual performance should not however overshadow great support performances from our other bowlers who were tight and accurate and still managed to bowl sides out cheaply when Brad was suffering from an injury.

The boys worked hard on defence and attack and put together some outstanding scores in the high two hundreds during the season. Patience and working to scoring rates were key factors in setting substantial targets for the opposition. I believe many players developed well during the season. Congratulations to Mark Piovesan in winning the batting with 394 runs for the season. Evidence of the even nature of the team is in the fact that six batsmen scored in excess of 200 runs while all players contributed when required.

As a fielding side we developed outstandingly during the season. The boys realised the value of pressure and made many opportunities with slick returns while gripping some unbelievable catches. A credit to all boys was the manner in which they approached their training in this area, they were willing workers and the results are on the board as a consequence.

To Simon Masters (Captain) and Mark Piovesan (Vice Captain) for their on field leadership, a special mention, you handled the job with maturity, skill and good humour. In my first season at Adelaide may I say thank you to a great bunch of parents who did so much in support of the team. You were all an integral part of the great team spirit which exists at Adelaide.

Laurie Nicholas, "Manager Extraordinary" no job was too big or small, Mike Duffill and Mike O'Dea shared the scoring task with great willingness.

The parents who assisted by providing teas back at the club and those who put out the matting at home games.

Ken Lovering and Alan Mitchell who went out of their way to make every resource of the club available in support of the boys.

THANK YOU ONE AND ALL.

My personal thanks to a great bunch of boys who made 90/91 cricket season a most memorable one. I am sure they will provide a great resource for The Adelaide Cricket Club for many future years.

Bruce Worthly Under 14 Red Coach.

	Player	Inns	NO	H/S	Out	Total	Average	С	St
М	PIOVESAN	12	2	92	*	362	36.20	17	0
S	MASTERS	12	1	87		35 <i>7</i>	32.45	5	0
K	TODD	11	1	68		268	26.80	1	0
В	WESTLEY	13	1	61		247	20.58	2	0
Α	EDWARDS	13	1	45		244	20.33	0	0
Α	DUFFILL	13	2	58		174	15.82	2	0
С	CHAPMAN	6	0	23		74	12,33	0	0
В	GRIFFITHS	5	3	22		59	29.50	0	0
J	MURRAY	7	0	32		55	7.86	3	0
J	TORNEY	11	2	19		43	4.78	フ	0
P	O'DEA	6	5	7	*	22	22.00	3	0
В	NICHOLAS	10	1	11		22	2.44	1	0
J	GROVES	1	0	9		9	9.00	O	0
В	TYMMINS	0	0	0		0	0.00	1	0
D	JOHNS	1	0	0		0	0.00	1	0
Α	HILL	1	1	0		0	0.00	0	0

	Player	Overs	Mdns	Runs	Wkts	Average
В	NICHOLAS	183.3	39	38 <i>7</i>	45	8.6
J	MURRAY	97.0	15	261	12	21.8
Α	EDWARDS	107.0	20	277	11	25.2
P	O'DEA	48.0	4	130	8	16.2
K	TODD	57.1	フ	163	6	27.2
J	TORNEY	13.0	3	22	5	4.4
В	WESTLEY	68.0	16	219	4	54.8
S	MASTERS	7.0	3	15	1	15.0
J	GROVES	6.0	0	43	0	0.0
Α	HILL	6.0	1	11	0	0.0
В	GRIFFITHS	6.0	1	21	0	0.0

### ADELAIDE CRICKET CLUB UNDER 14 WHITE 1990/91 SEASON REPORT

Twenty one players were selected during the season and all contributed to the team results.

After a good start we were unlucky to lose several close games which resulted in our team missing out on the finals by 2 games

The experience gained this season will be invaluable as a large number of the boys will be progressing to the Red team next season.

Congratulations to the trophy winners - Luke, Matt & Jeremy.

A very pleasing feature of the year was the support received from parents. Appreciation is extended to Aldo Raponi and David Bover (scoring), George Groves, Warwick Martin, Dale Johns, Michael Vaughan, Jim Gray and Greg Carey (matting and general assistance), Julie Lovering and ladies (cordial and preparation of afternoon tea).

A Sleine &

	Player	Inns	NO	H/S	Out	Total	Average	С	St
L	WILLIAMS	11	4	115	*	333	47.57	3	0
J	GROVES	8	1	67	*	209	29.86	0	Q
G	VAUGHAN	12	0	45		148	12.33	1	0
Т	GRAY	5	Ö	40		96	19.20	2	0
C	LOVERING	11	1	24		93	9.30	2	0
B	GRIFFITHS	6	1	33		87	17.40	2	0
J	HOW	9	í	49		73	9,12	1	0
J	HILDITCH	11	0	16		64	5.82	0	0
M	PLANT	5	O	30		57	11.40	Ö	0
Т	MARTIN	5	1	24		48	12.00	1	0
M	RAPONI	9	3	11		48	8.00	3	0
Т	BOVER	7	0	17		35	5.00	2	0
В	TYMMINS	3	0	16		21	7.00	0	0
D	JOHNS	フ	2	8		18	3.60	4	0
В	NEWBOLD	8	Q	10		17	2.12	0	0
Α	HILL	1	0	16		16	16.00	2	0
M	FALCONER	2	0	9		11	5.50	1	0
С	RAMSAY	3	0	6		10	3.33	0	0
В	STIENERT	8	4	3	*	7	1.75	4	0
G	WHELLUM	2	1	3		4	4.00	0	0
S	CAREY	5	1	2		4	1.00	2	O

BOWLING STATISTICS

	Player	Overs	Mdns	Runs	Wkts	Average
М	RAPONI	117.1	12	362	17	21.3
Τ	MARTIN	76.1	21	132	14	9.4
B	NEWBOLD	96.0	14	219	12	18.2
В	STIENERT	77.0	14	169	9	18.8
J	HILDITCH	48.2	2	129	2	18.4
D	JOHNS	31.0	5	<b>9</b> 7	5	19.4
J	GROVES	46.0	3	146	5	29.2
L	WILLIAMS	10.0	3	32	4	8.0
C	LOVERING	14.2	1	59	4	14.8
В	GRIFFITHS	53.0	6	155	4	38.8
M	FALCONER	5.0	1	20	2	10.0
Т	BOVER	34.0	8	81	2	40.5
G	WHELLUM	2.0	0	3	1	3.0
Α	HILL	4.0	1	6	1	6.0
В	TYMMINS	7.0	2	33	1	33.0
J	HOW	11.0	2	39	1	39.0
М	PLANT	2.0	0	3	0	0.0
S	CAREY	2.0	0	16	0	0.0
G	VAUGHAN	3.0	0	フ	0	0.0
Т	GRAY	6.0	0	34	0	0.0
С	RAMSAY	21.0	2	21	0	0.1

#### ADELAIDE CRICKET CLUB INC TREASURERS REPORT 1990/91

I herewith present the Statements of receipts & Expenditure together with the financial summary of the year ended 31/03/91.

Figures are based on revenue received and Accounts received or that we are aware of.

Figures this year have been inflated by an amount of \$2500 prepaid sponsorship for 1991/92 from Penfolds and an amount of \$2000 from the Late Sir James Irwin for a Memorial Trophy fund. Part of the interest from this Fund will be used for the Sir James Irwin Memorial Trophy while the rest will be reinvested to ensure the fund is guarded against inflation.

Unfortunately we are still unable to balance the budget and this year will report a loss of \$3726.48. Again, although we have had increased costs (and I can't see this changing next year ) it has been disappointing to note that there are still some \$1200 (approx) in subs outstanding, approx \$2000 in chocolate money outstanding and the raffle ticket sales were pathetic, with only 2257 being sold out of a possible 5000.

As usual it is the same people who all do the right thing and I would highlight that it is largely the same people who we have to continually chase for outstanding subs etc.

If outstanding moneys were returned we would be in a pretty healthy financial position but....!

I have presented figures for next year and this also shows an Operating Loss - Hopefully this can be turned around.

Iwould like to thank those who have worked so hard in raising funds and would especially thank the Ladies and Alan Mitchell for their efforts during the Country Carnival, J.R. for his efforts with the Teas and Meat Raffles and Bob Farrell for his work with the Phone Books and Raffle.

I would also thank all our sponsors over the past year and for the future. It can be seen from the figures what the Sponsors financial contribution to the Club is and we are gratefull for this.

P. Maraun Treasurer

### TRICOLOURS SOCIAL CLUB STATEMENT OF INCOME & EXPENDITURE AS AT 31/03/91

#### FINANCIAL SUMMARY FOR YEAR ENDED 31/03/91

BALANCE AS AT 31/03/90	68.12
INCOME AS AT 31/03/91	4528.34
	4596.46
Less EXPENDITURE 31/03/91	4547.06
	49 40

Statement of expenditure for year ended 31/03/91.

EXPENDITURE

CATERING
RAFFLE
DONATION to Commute General 2450.00
FID/BANK FEES

TOTAL EXPENDITURE

\$ \$4547.06

Statement of income for year ended 31/03/91.

#### INCOME

 CATERING
 3651.20

 RAFFLES
 872.90

 INTEREST
 4.24

GROSS INCOME \$ \$4596.46

#### BANK RECONCILIATION AS AT 31/03/91

Balance as per C/A 272.65
Plus O/S Deposits 226.75
Less Unpresented Chqs 450.00
49.40

### ADELAIDE CRICKET CLUB STATEMENT OF INCOME & EXPENDITURE AS AT 31/03/91

	y <sub>r</sub>	YTD to Date	ANNUAL BUDGET	PROPOSED 1991/92				
INCOME								
NON PLAYER MEMBERSHIP SACA GRANTS SALE OF CLOTHES/APPAREL BAR	as from May use people suspends	633.00 9116.08 1120.00 3954.78	6250.00 0.00 500.00 7500.00 1500.00 2000.00 0.00 0.00 0.00 0.00 0.00 1000.00 7500.00 2500.00 2500.00 100.00 4000.00 0.00 1000.00 0.00					
	======= \$		\$48000.00	\$61600.00				
GROSS INCOME	\$	\$64296.24	\$48000.00	\$61600.00				
BANK RECONCILIATION AS AT	31/03/91							
Balance as per C/A Plus O/S Deposits Less Unpresented Chqs	179.56 5807.54 13415.36							
Plus Exec Trust INV A/C	- 7428.26 3701.78							
Plus Sharpe Mem Trophy	- 3726.48 213.53							
Plus Sir James Irwin	- 3512.95 2157.25							
Less Debentures O/S	- 1355.70 2100.00 			2 e				

		YTD	ANNUAL BUDGET	PROPOSED 1991/92
EXPENDITURE			1 May 1940 AND 1950 AND 1950 AND 1950 AND 25	
GROUND EXPENSE  MORTGAGE PAYMENT  BORE PAYMENT (QUTERLY)  E&WS  ETSA Rughy lights separate  GAS  TOILETRIES  EQUIPMENT PURCHASES  REPAIRS & MAINTENANCE  SARU LICENCE right to used  "PLANT DEPREC.  FERTILIZER  SOIL	500.00 766.46 388.68		3593.96 1700.00 1500.00 0.00 0.00 0.00 2000.00 1300.00 550.00 300.00	3593.96 1200.00 2000.00 1500.00 300.00 450.00 200.00 2000.00 1600.00 500.00 450.00
FUEL PEST CONTROL black beetle TOPDRESSING	437.00 691.58 0.00		500.00 0.00 1000.00	500.00 1000.00 1000.00
SUB TOTAL CURATOR rate up a fad but reason GROUND/NET HIRE EQUIPMENT/BALLS EQUIPMENT/SUNDRY COACHING FEES ADMINISTRATION PRINT/POST/STATIONERY CHOCOLATES SAWCA Affil fees women CLOTHING SCORERS TROPHIES no bill as yet RAFFLE BINGO TICKETS FID/BANK FEES CHQ A/C FID/BANK FEES INV A/C REFUND SUNDRIES SEE CONFOR WAG	till newle	116.81 10.61 249.00 2732.57	11000.00 2000.00 8500.00 1000.00 4500.00 1200.00 100.00 3300.00 0.00 1000.00 500.00 2200.00 75.00 30.00 .00	17143.96 15000.00 2000.00 8500.00 1000.00 6000.00 1500.00 100.00 7500.00 2000.00 1000.00 2000.00 2000.00 2000.00 2000.00 2000.00
UNTAKEN RAFFLE PRIZES FID/BANK FEES S.J.I.T.F		2000.00		========
DEBENTURES OUTSTANDING	\$	63900.04 2100.00	51648.96	
TOTAL EXPENDITURE	\$	66000.04	<b>51648.</b> 96	69773.96
FINANCIAL SUMMARY FOR YE	CAR ENDED	31/03/91		but standing exist
INCOME AS AT 31/03/91		64296.24	9	ig. combileteling
FINANCIAL SUMMARY FOR YE BALANCE AS AT 31/03/90 INCOME AS AT 31/03/91  Less EXPENDITURE 31/03/9  + extra down 2000	1	62544.34 66000.04 3455.70	actually this trule	worse as James 200
1 anna clown 2000	about \$7	voo deur	which is	in trust

,

35400°

#### AGELAIDE CRICKET CLUP BAR TRADING ACCOUNT SEASON 1980/91

		Macin ta	·				
OPENING STOCK PURCHASES	1/10/88	\$ \$	2523,78 18266,14	SALES		\$ 29380,00	
			20889.92				
CLOSING STOCK		\$	3222,52				
6 6 6 7 6 7 6 1 7 6 7 6 7 6 7 6 7 6 7 6		5	17867.40	}			
COST OF SALES GROSS PROFIT	40	Φ	11712.60				
						#======	
			29380,00	!		29380.00	
						*======	
				1			
		WILLIAM OF					
	1990/1991 \$ \$	EXPENDI EASON	TURE STATEMEN				
	***	\$. c.		≐ <b>====</b> ==== , ¢.			
		ψ.υ.					
BAR PROFIT			11,	112.80			
OTHER INCOME				840.54 =====			
				553.14			
LESS NON BAR EXPE	NSES:				41		
CLEANING	.4010.	1255,38					
TELEPHONE		1029.10					
BINGO TICKETS SECURITY	•	35,00 162,00					
ELECTRICITY		1113.44					
BANKFEES		53.81 8.30					
STATIONERY STAMPS		31.50					
PURCHASE CASH RE	GISTER	425,60					
Domestic Gas Bar Gas		47.74 415.40					
LICENCE		735,50					
GARBAGE BIN		83.00 49.00					10
YIDIO MACHINE BAILEY MAINTENANO	E	<b>300.50</b>				li	D
SSRUC VIDIO HIRE 89		775.16				prof	
	=:	262		037.81 ====		12 MIN	
NET SURPLUS				51 5.33	1	up bow proficed up up and some some some some some some some some	
LESS TRANSFER TO	GENERAL ACCO	TNU	_	053.44 =====	1100	Den	
			3.	481.89	10	erp	
BANK BALANCE 1/10	(80			30.92	000	id.	
LESS INCREASE IN S				598.74	Thom po	up	
BALANCE AS PER BA	NK RECONCILIA	TION		394.07	200	2000	
				====		1 43 Aug	
					0100	cover e	
BANK RECONCILIATION			4	. <b>c</b> .	(00)	wh \$300 dug which the same of	
CASH IN BANK 1/10/9			·	30,92	3 / W.	mo	
CASH RECEIVED				2 <b>2</b> 0,54 357,39			
CASH EXPENDED.				=====			
BALANCE AS PER BA	NK RECONCILIA	TION	_	894.07		9036F W	
			===		08.7		